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(1) int i=0; while(i<2){i++;System.out.print('*");}

(2) int i=2; while(i<2){i++;System.out.print('*"');}
(3) int i=0; while(i!=1){i++;System.out.print('*"');}
(4) for(int i=1; i<4; i+=2) System.out.print('*');
(5) for(int i=0,j=0; i-j<3; i+=2,j++) System.out.print('*');
(6) for(int i=0; i<2; i++){
for(int j=0; j<3; j++) System.out.print('*");
System.out.print('-"');
}
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int[] aryl={1,2,3};
int[][] ary2={{0,1},{2},{3,4,5}};

(1) System.out.print(aryl[0]);

(2) System.out.print(aryl[1]);

(3) System.out.print(aryl.length);

(4) System.out.print(ary2[0][1]);

(5) System.out.print(ary2[1][0]);

(6) System.out.print(ary2[ary2.length-1][ary2[ary2.length-1].length-1]);

BSR4

1 2 |* 3 (* 1 |* 2 |® 5

(B3 5] RIID—F 1 OIEICRET DR TI, ELWVNEDICE To) =/

Zi%D (MATD) CHDEHTI, [ 2 J[FDSIRADAVIN= (D« —
JURZE) ZIBINT DIEODXEY OB TI, RICC 2 I &EC 3 )
BEFEAVNTHRIRLED, &7 1 —ILRESRIDBSICEIESSINEY
SRABZHBED «—)VEBOEIC U 4 ) ZDIITSRULET,
WERE:

BEHNEH AT7Ix0k BINER RAF JSRABEEZHY SRELEHY
INADV(-) EUAR() AYY(G) 30V(:) DAl new it
WEEESHE 6

YOSRBEH |2 ATITOR | new fEUZR

(RS 7] RI& 3000g THFNICEROREBHZFTEITDII—FTT, 2R
(& 1 B1RIC 30g 182 T 3030g. 2 BXIC 31g18X T 3061g. 3 BRIC 32g18
Z T 3093g 730, 1BZBDEN 30g 31g 328 DEKDIC 1g TFDIBZTNE
F9., F—h—FDoBFRAEE(g) ZANT DEMBRICZDAREULICHK
RIDINDKRTULIET, ZREEBDICIEDHTI— FETHIERSL), (12)
MREMCIBENGOET XRSH_ 2 |IESFTY

& @\.._

BJ—F2

BOTNDEDICIE Tx] ZBZIZSV), (F25t8)
EJ—-F1

1: import java.io.*;

2: class Final5{

3 public static void main(String[] args) throws IOException{
4 BufferedReader br;

5: br=new BufferedReader(new InputStreamReader(System.in));
6: int m=-1;

7 do{

8: m=Integer.parselnt(br.readlLine());

9: if(m==9)break;

10: twhile(m<l || m>4);

11: switch(m){

12: case 9: System.out.println("PWOFF");break;

13: default:System.out.println("ACCEPT");break;

14: }

15: }

16: }
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1: import java.io.*;

2: class Final7{

3: public static void main(String[] args) throws IOException{
4: BufferedReader br;

5: br=new BufferedReader(new InputStreamReader(System.in));
6: System.out.println("*BR2ABR(g) ZAD LTI\ %x");
7: int target=Integer.parselnt(br.readlLine());

8: int weight=3000;

9: int | 1 |=30;

10: int dayss| 2 |;

11: while(| 3 || 4 | target){

12: weight+s 5 |;

13: adds++;

14: [ 6 T+

15: }

16: System.out.println(days+"B#&(C"+weight+"g [CAE!!");
17: }

18: }
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